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1. Use the block diagram to complete

(i) these 3 solve equations: -0 =
12
T
| 9
+ W =
iym=...—...= ..
2. Use the block diagram to complete
(i) these 3 solve equations: — & =
13
®+ =
) 5
+ & =
(ii) & = — =
solving  1(i) 12— M= 2() 13— & =5 3() 16-A=8 4G) 15-0=7
ready H+9=12 &+5=13 8+ A =16 O+7=15
(1) 0+ M =12 5+ & =13 A+8=16 T+0 =15
answers (i) M=12-9=3 (i) #=13-5=8 (i) A=16-8=9 (i) V=15-7=8

1. Use the block diagram to complete
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2. Use the block diagram to complete
(i) these 3 solve equations: — & =
13
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3. Use the block diagram to complete

(i) these 3 solve equations: = A =
16
+ A =
8 A
A+ =
i)A = ... — ... = ...
4. Use the block diagram to complete
(1) these 3 solve equations: =0 =
15
O + =
@ 7
+ O =
i) = ... — ... = ...
3. Use the block diagram to complete
(i) these 3 solve equations: o= A =
16
+ A =
8 A
N+ =
i)A =...— ... = ...
4. Use the block diagram to complete
(i) these 3 solve equations: R
15
O + =
Q© 7
+ O =
(i) © = — =
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